&ﬁ%s%(ﬁs%@%),”

)

ORI

Cwmmmaws & . /0

BA AEHM

SR 2 R AR B TV C

i

: 7"‘%%1&?&%@3%0)*{1%;%@?‘5 %Wé"%’ 10 5"&% 1 Iﬁ 1¢ 3 IE) ;EO%
E'HE 1HE UE'J"&E 2 %) c‘: BYUEH 2@?@2%‘?%@%”2&% BERELET,

. /‘J




A

RS

ST R E MR s S

A

HSESE

X

A _mf%ﬁr.

| .2,400,'&)00& ‘

BR

3 CGELR)

10 960F’3

e

o[

EmE e

. 1,654,382/

ﬁfﬁ(ﬁﬁﬁ% o 'ojz.lr_j o

A%%

o oE|

BHERE

e

..............

ez O

3 3501F'§| _

|FBR

- 250 00§FEJ

- 45,000

2

3:425,6208|

/E'I\zﬁ-;l_

‘fzﬁiﬁwm

teoo g

B'Jﬂﬁzo)é:k‘ﬂ




B2

N

xS T SRR R
AT : "10,960M|
' 1 m&%zwu ' SN
' . 79)?%&@%%%%%/(’7?/)/&)"’? z,sggm
 TIVHEERE YA | " 3:100/
. mﬁ‘?“ﬁVyFZT—VE/!‘EﬁIEﬁ?&U*E%(ﬁ/)/ﬁ')/ 2,400} .. .
g ikiﬂ?#?fﬁ aa%ﬁafmﬁﬁ (jaw/m/ 2,820M |
| .
$E”fI£EﬂEU g;&%&%& f"#ﬁf&?‘*ffr/ﬂ% 1,654,382/

IR LR

C EsERBLR—R

497, sof;a X 100% =

%1TH  5H 148 %ﬁ%ﬁm 36 10085 - %fr%ﬁ?ﬁ:&@&ﬁ%

%ﬁﬁﬂf
: %GIEIL%E,QVJ‘—

7 ss0f ><100% =
(390,401 x50k (& B#) =

${TH 6H2LA %ﬁ%& 36,1048 HFRIHTIA LT HelAT

IRAFEE

. %HEIL%WV‘FC

330/ X50% . = |

387, 101Fq xso%(a B#)

CRATR SRR BITEEL 36,1008 %ﬁf‘ﬁ%&kﬁ%ﬁaﬁ

- %SJEIE‘;&VT-M

}Eﬂ%&#&/ |
© BIRREL RN

© SOERBIL R —bFIARS 27,500/ X50%

. 420,101 X 1009 - =
FITH 1158H FATHEL 36,100%8 S BAA L SR

- 550/ Koo A
(365, 1011 %508 (& EE%)

(BT IALSA FATEH 36,1008 MEATHALE R

AT
- RBUR— KR

' '330P3'x50‘V/ -

220,000 X 1009 = .
RATH 3A2A  FATHIK 26,0008 %ﬁ%ﬁ%&eﬁﬁﬁaﬁ |

| 195, 2/0F3

| 19'3;_5013 :

| 220,000

212"?}01 T~

55"5!“3 |
165 l?q_

420,1{1}33 :

- :
.. 550/
182,550/,
13,750/

165M”

9

. Ffﬁaﬁ%ﬁmiuﬁ%%ﬂijﬁ"é& _ ,
2 TERTHNE | OMITIT, ﬁﬁ%@%@ﬁﬁﬁ@%&%ﬁmﬁﬁiﬁ"é:km -

TRl (&R R ?ﬁ%ﬁ@ﬁ%ﬁ%ﬁwﬁﬁLB%'?‘%%WJ%2®EH§D‘F%‘(Fnﬁﬁbﬁ?ﬂﬁj e
' R AT ) (R E B rems, rf&ﬂﬂfﬁiﬁj f%ﬂﬁﬁi\ﬁu [ERFR



B‘Jfﬂ:z

ez T EHEENE e .
|REEAZ |1 BER-FEMmSSEAR | / 84,768F | -
' | | fPB%ﬁ%FJE%’ e 127854 38,016/ {5
R 127 A5 723,208/
) f‘%%ﬁﬁ%ﬁ%mﬂﬁ 12084 (7 722,644/ -
22z T o . ssysoip|
o , 1. BOETEEIODICEEHROMY I (200,000M) . -
S BRPR 50,0000 X45 B/ 200,000/ X50%/ = 100,000/
] L EAEEE S | 1,650F1 X509 = i
] . EBEAROMA o o PR
. %é"%m%/ 238,396F% X 100% £~ = 2‘33,396% o
o : :%?t%%f | 88,560 X505 = __4?;280}51 )
'R | 250,009
. %é‘%ﬁﬁ:ﬁ&@ﬁ%z\ 4 o o
: Btﬁieéz“'/ _ . 9,305M ><50%f \ = 4,652
- #Es " fos, 7801 x100%, = 98,780M9 |
A f 42001 X100k = 4,200/,
5 SR A
SRAVE DY AN 135, 646]% ><56;6 = -67f§;3F'3
3. BER. , ' IR
‘, - R, 110,071 %50% = 55,0337 |
- : $z§§ﬁﬁ%’ﬁtf 39,0579 X50% = 19,5217
= INCS"§ : ﬁa%%ﬁtmwé%%ﬂ&a(lﬁ)@%m (90,000M9) - 450000 |
| TR HTIMELALEALATIIEASIAET IR E
; %’éfﬁ%ﬁ% 30, OOOP?XSJyEf - x{sﬁ_oea = :f%ooorq

El F%X%J#ﬁui Wﬁ%&aﬁ%@:ﬁ@*{Tt_ﬁaﬁ‘é%ﬁ%z@zﬁﬁ@%%(%ﬁﬁﬁ?ﬁ%) FiFE -

%1, fﬁﬁf*ﬁ%} IEFREEDR . (&%), FHM’&EE%JJ?*%R%J\%JJ%%HT%J
rgzﬁ%mr_;ir)\{bp%waﬁm_eza T
) ry@%ﬁmmﬁﬁuﬁ: &ﬁﬁéﬂ%@ﬁﬁﬁ&%ﬂﬂ:ﬁﬁkﬂﬁﬁ“éhk



